Meth & - Winter 2020
DA swer Key for hove wor K due 3/g

1 Howvewo k ascigred  3/2
"1 Loz 3620323 S

\‘N Cf"\"\'\‘Cc&'\ PO\/F\_S Ve \»\J\\/\Q,V“v -C)( ()(("t): ‘p\/ lxl"{):o.
Here

fitxg)= 12 - G xy

f\f (')(\L(\ = 3% by -2

fo 5 & Gy) 20, we waed ether x-o or y=2.

/

l‘C 7(:0) J\"I -Q I“C‘C \{:O ov” \{:'2.

T e R e e
The ool poinds ave (0,00, (0,-2), (VE 2D eendk (-VF2)
To classily Hhmn, we use Fhe second deridkive FesF and

need  the  dSccioninpint

D)= Fuy xy) f\ﬁ (%) ’/"[,y\/ (x,q))z.

Here

B

Lo 064) 12-6y (o (o) = -6 ¢
LM (xy) = g\”é

and dhos
Dey)d = 36 Ti—y2ay+2 1.

\-\e\/\({_/ .
(’(\\1) D({\\,{) ‘cﬂ A [ oo /Suo’ \o pr.

e
(0\0) 1 12 m
(0\'7/) —(ykl SQAIJ\Q pt
(\)%‘7,) ._1%8 W
(- \@Ll) -1 "



N ’CC““{) _ M g

Mleve
T v 3 L= 4,3
L ) = 22 fy.,, - 2y°
431\1 (xy) =0

H@n“, Ihe A8 Ce Lo AT OC)' Hg Q/t‘s.}\ S

D 0,00 = (1242, 242 )‘(; W :(o,0)
{J (o

‘:Q
/

ond we ot apply g seand decivative Fest

Howeue(, £ 5 o vion negati ve Conchion and ‘C(O/O)3O,

So ‘)/\/\& O(-'b(j;l/'\ (y O AL AN

) Loy = y"'_y‘LL(z
P\Q\/e,
C\, (x\\,(): "‘%3-7_)4\.(1 ‘CY'{’[“’”: *_Z)}y
C\“(wa: 'sz—-‘z\{l f\m (M{) = L2

C‘M ()m/f) - -L()(k'

Henc , the duserivminand s
D bay) = (=243 (-2,2) - (A xb,
and N0,0) =G, So +we s Ly
However, we Gan  Soy + s e seddle point oy Comn par gy
Yo ndesec Hon of Huw QPQPK of £ with oo Dlanos !
ENCIE AN \/:Q; ool e %e;\ e Loncdeen 5-(;() :yL’, which
admids W mlntowm et O

with (225 and we ger R0z 2 wnich adimits o

WAGX( oA ot O

Sine i (g & moiviuu 1N ML Aitechon and oo imminman (N Q‘/\G‘h‘\el’ Faw SO,?SC&L&



Z. Howrewor k 0.3853"\9& 3/4.
Let ‘CC)(\\,() =Xy
To Lind all Yl edreme valoes an Uery?< we wueed Fo
O Fd te oritied pands of £ witin A, and
evaloade £ o4 Yhee  points,

(i) apply Yhe  wnethod o Len Gronge A~ Hiple ers WS e

CUV\S)(V’QJV\‘\ (_\)():(%7_/’ 0
(i) (omn pove ans wers 4 romn ot (BOLHS
() e orid o poiﬂ‘\‘i ot whenn £ {x(«,,):-fv (y) <G
‘C/,: \ and “p\( =¥
\«\mce,, "‘/\/\L O\/\lvt CY(*LcCa,\ (x\l/\‘,L \‘S (O)O) , CLV\Ol f(O;O> -0.
(V) La\— 6&\\1) - H)(l_l\/,z_: ey
Vg4 () =<8y, 29 Y.

Vg(mﬂ S Po/ra\‘e\ *‘(, U-C&\%): <y, V> w e /\VSCX\»{):VL&M)’

Nt s w ke
. 8>&X=\.{ andl 'Z/\\{:;(

So\\u‘/\o) {er RS Ger Az 2L (o (Sl\q) =06), ot ot doey
oY E)A—':S-C\,I Yhe  comsHroind D)

Thot waeans ot \12: Yx'. Sine L\x7‘+\{2*«“\, et (S

ENT omd x- b
vz \
Hen®, exvre me yalues  maay 0 o (L\,—L' ‘E); (:V%,J;)//—é“&),g\ﬁfﬁ%,d
’ (©)0);
(L, 7)1 - O - -\ U A N NP
Q ( V2 > )C( =R ) / Q(—\’:_L tﬁ)«r(\‘éa Z)’ ] -ﬁ((‘)p) ~C.
Ve [ Yha  mMotivmomn yoloe- 'S ’(, ceached ot ('\\Fiuﬁ) ounoh (%I'\E’)/

ondh e i nimom volwe (s =1 | ceoched adk (:\\fi~£) md(%@(d{)_

(



